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Q1 = 1, Q2 = 3

Qn = 2 · Qn−1 + Qn−2, n ≥ 3 (1)
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5 = 2 + 3,

12 = 5 + 7,

29 = 12 + 17, . . .
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Pn = Pn−1 + Qn−1 (2)

�

7 = 2 · 2 + 3,

17 = 2 · 5 + 7,

41 = 2 · 12 + 17, . . .

���

Qn = 2 · Pn−1 + Qn−1. (3)
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Pn − Qn = Pn−1 − 2Pn−1 = −Pn−1,
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Qn = Pn + Pn−1. (4)
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√
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√

2)n
]
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2
√
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]
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√
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[
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(
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)
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(
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1
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=
pn

p
(1 + p) −
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Qn =

√
2(pn + rn)

2
√

2
=

pn + rn

2
. (5)
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Q6 =
[(

6

0

)

,

(
6

2

)

,

(
6

4

)

,

(
6

6

)]

· (20
, 21

, 22
, 23)

= (1, 15, 15, 1) · (1, 2, 4, 8)

= 1 + 30 + 60 + 8 = 99.
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F2
n + F2

n+1 = F2n+1. (6)
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12 + 22 = 5,

22 + 52 = 29,

52 + 122 = 169,

122 + 292 = 985,
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P2
n + P2

n+1 = P2n+1. (7)
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L2
n − 5 · F2

n = 4 · (−1)n (8)
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Q2
4 − 2 · P2

4 = 172 − 2 · 122

= 289 − 288 = (−1)4
,

Q2
5 − 2 · P2

5 = 412 − 2 · 292

= 1681 − 1682 = (−1)5
,
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Q2
n − 2 · P2

n = (−1)n
. (9)
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